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B. A. (GENERAL) ECONOMICS 

(BAG)  
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June, 2025 

BECE—146 : INDIAN ECONOMY—II 

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from each Section as 

per instructions given. 

Section–A 

Note : Answer any two questions from this 

Section in about 600 words each.  

2×20=40 

1. Discuss the post-2000 changes in the 

Monetary Policy Mechanism in India. 
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2. Explain the problems of Indian agriculture 

which have continued to hamper its 

performance. 

3. State the basic characteristics of the service 

sector. What factors have contributed  

to the surging ahead of services sector in 

India ? 

4. Describe the steps taken to assist the ‘small 

and tiny enterprises of the SSI sector’ in the 

New Industrial Policy of 2017.  

Section–B 

Note : Answer any four questions from this 

Section in about 350 words each.  

4×12=48 

5. Discuss the instruments of Fiscal Policy. 
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6. Explain the features of FDI policy pursued 

by India in the post-1990s. 

7. Indicate the various measures initiated for 

the Social Security of Unorganised Sector 

Workers in India. 

8. Outline the consequences of changing 

‘agrarian relations’ in India. 

9. Briefly review the recent ‘Market Reforms’ 

for the agricultural sector in India. 

10. Analyse the growth in the industrial 

production in India in the post-1991  

period. 

11. What are the major implications of higher 

growth trends of services sector for policy in 

India ?  
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Section–C 

12. Write short notes on any two of the following 

in about 100-150 words each : 2×6=12 

 (a) Reserve Money 

 (b) Land Leasing 

 (c) MSME sector  

 (d) FDI    
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 BECE–146 

ch- ,- (lkekU;) vFkZ'kkL= (ch- ,- th-)  

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-bZ-µ146 % Hkkjrh; vFkZO;oLFkk&II 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa esa funZs'kkulkj iz'uksa ds mÙkj nhft,A 

Hkkxµd 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx 600 'kCnksa 

esa (izR;sd) esa nhft,A 2×20=40 

1- Hkkjr esa ekSfæd uhfr izfØ;k esa o"kZ 2000 ds Ik'pkr~ vk, 

ifjorZuksa ij ppkZ dhft,A 



 [ 6 ] BECE–146 

C–2502/BECE–146 

2- Hkkjrh; Ïf"k dh mu leL;kvksa dh O;k[;k dhft, ftuds 

dkj.k bl {ks=d dk fu"iknu ckf/kr gks jgk gSA 

3- lsok {ks=d ds vk/kkfjd vfHky{k.k crkb,A Hkkjr esa lsok 

{ks=d dh rhoz izxfr esa fdu dkjdksa dk ;ksxnku jgk gS\ 

4- ubZ vkS|ksfxd uhfr] 2017 esa y?kq ,oa vfry?kq m|eksa dh 

lgk;rk ds fy, D;k dne mBk, x, gSa \ o.kZu dhft,A 

Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj yxHkx 350 'kCnksa 

(izR;sd) esa nhft,AA 4×12=48 

5- jktdks"kh; uhfr ds miLdjksa ij ppkZ dhft,A 
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6- 1990 ds n'kd ds ckn ls Hkkjr esa viukbZ xbZ izR;{k 

fons'kh fuos'k (FDI) dh uhfr ds vfHky{k.kksa dh O;k[;k 

dhft,A 

7- Hkkjr esa vlaxfBr {ks=d ds dfeZ;ksa dh lkekftd lqj{kk 

ds fy, izkjEHk fd, x, mik; crkb,A 

8- Hkkjr esa ifjofrZr gks jgs ^Ïf"kd laca/kksa* ds ifj.kkeksa dh 

,d :ijs[kk cukb,A 

9- Hkkjr esa gky gh esa Ïf"kd {ks= ds fy, fd, x, ^cktkj 

lq/kkjksa* dh la{ksi esa iquohZ{kk dhft,A 

10- o"kZ 1991 ds ckn dh vof/k esa Hkkjr esa vkS|kfxd mRiknu 

esa gqbZ lao`f¼ dk fo'ys"k.k dhft,A 

11- Hkkjr esa uhfr ds fy, lsok {ks=d esa mPp nj ls o`f¼ 

izo`fÙk;ksa ds eq[; fufgrkFkZ D;k gSa\  
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Hkkxµx 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×6=12  

(v) lqjf{kr eqæk 

(c) Hkwfe dks yht ij ysuk 

(l) e/;e] y?kq ,oa vfry?kq (lw{e) m|e {ks=d 

(MSME) 

(n) izR;{k fons'kh fuos'k 

× × × × × 

 

 

 

 

 

 

 

 


